Directions (1-5) :
related word / letters / number from the given alternatives.
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In each of the following quetions, select the

e (1-5) : Fmfafad ude a9 8 feu 7o faeea 2 Q
Wl g / STgRL / WS Bl N

1.

Directions (6-7) :

4845 : 452 ::5964 :?
(a) 592 (b) 942 (© 962  (d) 542
RORRIM : MIRROR : : TNESERP : ?

(a) TNERESP

(c) CRESENT
EAC: KGI: : HDF : ?
(a) PLN (b) K1J
Mathematics : Logic : :
T : ek fam : ?
(a) Experiments / TR (b) Laboratory / BRI
(c) Scientists / ésm”-—m (d) Facts /d=d

Window : Pane : : Book : ?

Taget : wete : : T : ?

(a) Cover / 30T (b) Novel / 3999

(c) Page / T3 (d) Glass / ¥ftem

In each of the following questions, a series is

(b) PRESENT
(d) STNERPE

(c) FBD (d) NJL
Science : ?

given, with one term missing. Chosse the correct altrernative from
the given ones that will complete the series.

v (6-7) : Timfefaa 9d® v 4 e SgeH feen §,
ﬁra&qmnz@a%l fau T fasedl ® | a8 wet famey

g it 313;55[ HL g B
6. TR,P
@V (b) M (0L (dE
7. 1,48,4,24,7, 2,10,2
(@) 8 (b) 2 (c) 18 (d) 12
8. In a certain code language PRAYER is coded as

MOXVBO, then how SALUTE will be coded in
the same language ?

ferdt o W, PRAYER %! MOXVBO & ®U U &hifed
feram wmar &, @ SHt WToT § SALUTE & @ feran

ST ?
(a) PXIRQB (b) PXIQRB
(c) PIXQRB (d) PIXRQB

Directions (9-12) : In the each of the following questions, find the
odd word / letters / numbers from the given alternatives.

9 (9-12) : FEfeRen u&e a9 ® feu o fasmeunt
# § faom g / Stewi / " gim)

9.

(a) 5530 (b) 41220 (c) 2610 (d) 3915

2 A Premier Institute For SSC/Bank/MCA/MBA/CDS/NDA Entrance

(a) Gujrat (b) Maharashtra
(¢) Karnataka (d) Arunachal Prdesh
(a) 65 (b) 126 (c) 28 (d) 215
(a) LMVW (b) RQCB (c) HIXY (d) NODE
. A word is represented by only one set of

numbers as given in any one of the
alternatives. the sets of numbers give in the
alternatives are represented by two classes of
alphabets as in two matrices given below. The
columns and rows of matrix I are nubered
from O to 4 and that of Matrix II are numbered
from 5 to 9. A letter from these matrices can
be represented first by its row and next by its
column, e. g., B' can be represented by 00, 23
and P can be represented by 56, 55 etc.
Similarly, you have to identify the set for the
word 'DEBRIS'
Uk 92 halol Ueh HEAT-UUE FRT 91T 7 ¥, 34 a6
Wﬁﬁ%ﬁ@ﬁﬁmm%nﬁ%ﬁﬁﬁmm
3TeTd o I & g QUIT T &, S o e
fau “;gana@ﬁ%l ml%waﬁ'{tﬁﬁﬁ
&0 ¥ 4 a‘rn-é%aﬁ'{ nﬁsﬁmg#anwﬁ
H U G R TR I Y Ulew AR WG F W HEemw
RT 9T AT HehaT §1 3STE0T & faU 'B &t 00,23
S G GUHAT ST WehalT &, 49T P R 56,65 T T
O T WA & T AYE | ST WO 7 20 TG I

'DEBRIS' & 70 4% &l Ug=I=T 1
MATRIX / 30egg -1 MATRIX / 3T&gg - II

0(1]12)|3|4 5(6(7]|8]|9
O(B|U|I|L|D 5|S|P|A|R|E
1{U|I|L|[D|B 6|P|A|R|E|S
2|1|L|D|B|U 7|A|R|E[(S|P
3|L|D|B|U|I 8|R|E|S|P|A
4|D|B|U|T|L 9(E[S|P|A|R

(a) 40, 95, 14, 59, 30,69 (b) 22, 59, 42, 59, 34, 69
(c) 40,95, 14, 58, 34,69 (d) 22, 95, 59, 30, 14, 69

Directions (14-15) : In the each of the following question, arrange
the followign words as per order in the dictionary.

Ew (14-15) : F=faien =i & v | iy ™
& AR o)
14. (A) Launderette (B) Laughter

(C) Laundry
A)4,1,2,3

(D) Launch
(B)1,3,2,4



15.

Direction (16) :

@©4,2,1,3

(A) Complicate
(C) Complication
(@ 2,1,3,4

(©) 4,1,3,2

(D)2,4,1,3
(B) Complicity
(D) Compliant
b 4,2,3,1
d4,2,1,3

In the following question, from the given

alternative words, select the word which cannot be formed using
the letters of the given word.

o (16) : Fmfefan fawed 3 | a8 v i st iy
W ¥ & AR Bl TAF s A8l SR ST bl

16.

17.

18.

19.

Direction (20) :

POLYTHEISM

(a) HOTELS (b) SMITH

(c¢) PISTOL (d) THESIS

If + means +,+ means -, - means X, X means +,

then 12-8 X 6-4+6 +3 =?

(@ —112 (b) + 118

(c) — 33 (d +92

Raheja started from a point. He walked 3km to
the North, then turned East and walked 4km,
then turned West walked 2km and then turned
West walked 3km and stopped. In which
direction is Raheja from his starting point ?
TR 3 Weh T § T 9% foram| g 3 foeft. STt
aﬁwwﬁﬂuﬁaﬁaﬁé?an'r4w = fRe =%

afvem it 3K g 2 =T 3R ae gfaror @ 3T
3 et SIcTeRt Bk TTET| ST 210 TR T2t

gmﬁwﬁ% ?

(a) East (b) South (c) North (d) West

If a paper is folded a particular manner and
punch is made, when, unfolded this paper
appears as given below in the question figure.
Find out the manner in which the paper is
folded and the punch is made from the answer
figures given.
Tfg Tt swrTe ot Tens fafyre fafa & wigex o fean
HTT A Wit OT a8 TS el & T WIT STehTa Srar
ﬁ@ééﬂ%lﬁﬂéﬁggﬁﬁﬁﬁé@wmw

! ferT YT |eT Temam e o ?
Question Figure / U9 3T&fa :

O 0|0 O
© Ojo ©

Answer Figures / 39T Tehtaal ¢
o O o]

O O 5 (o) o
o o O o o

o]
(1)

2)

In the following question select the missing

3) (4)

number from the given responses.

E (20) : F=fafaa a9v % fgu o fawew 5 4@ 9w

3% I Bk
20. |5]|4|9
613|°?
7012 ] 4
65|20 | 45
@1 (b) 4 (03 (D)2
21. Which answer figure will complete the pattern

22.

in the question figure ?
ﬁwﬁwmmwﬁr%mﬁwwﬁ?
Question Figure / ¥ 3gfa

_\ 1
SR N
(1) 2) (3) 4)

In the following question one statement is
given. followed by two Conclusions /
Assumptions, I and II. You have to consider the
statement to be true even if they seem to be at
variance from commonly known facts. You
have to decide which of the given Conclusions
/ Assumptions, if any, follows from the given
statements.
U ¥ Uw HUT feEr war § e o @
Frreamet /qaigam o 1381 11 frentet 7T §) st 7= &
& wad W § IR 9%/ WA {1 s ¥ R
Jeta BT B/2 il 3nuen ot @ § fa few g
Tl /gaique § ¥ ®F-ur/em-u fHveq w0 @
HUT/HA G TR Prewre T Hewat §/aea €, afy
Caegal
Statement / hA:
An advertisement in the paper says "Consume
pure organic honey of Company A".
FHTER Ut & Tk Foraio o 1qEm, hoet ' A’ T
TS ITEE JarT &l o
Conclusions / F=#d :
(I) Artificial honey can be prepared.
HiH IS AR fmaT ST et B
(II) People don't mind paying more for pure
organlcally prepared honey.

a%a AT WY W TOR I o (0 R
I HA T hIg AU TE &
(a) Assumptin II is implicit.
3HT 11 Frererar )
(b) Both I and II are implicit.
ITTH 137X M A1 FheTd B




23.

26.

27.

28.

29,

(c) Neither I nor II is implicit

T 3AT 138 7 € 11 Fremerar §)

(d) Assumption I is implicit.

From the given answer figures, select the one

in which the question figure is hidden/
embedded.

S I3 ST SR H | I IR 3ehid aht T fSrad
WY STeRfa e 21
Question Figure / ¥ 3Hfa :

(2)

(1) (3) (4)

24.

25.

After walking 200 metres, I turned right and
covered a distance of 100 metres, then turned
left and covered a distance of 300 metres. In
the end I am facing towards North. From
which direction did I start my journey ?

200 ﬁaaﬁ%mﬁm@gaﬁ'{ 100 e &t

T @, 99 ST YT 3T 300 HieT @t gt a9 &l 3iq |,
T G ST kT TR &1 8 foh FEom @ arut amsn & &t ?
(a) West (b) East (c¢) North (d) South

The number of triangles in the following
diagram is :

Frefeiaa sma # fragsit st @ feraet 82

(a) 13 (b) 14 (c) None (d) 17

GENERAL AWARENESS

Which one of the following is a wild life

sanctuary?

frefafaa # & SN T o= Site 3T & ?

(A) Jaldapara (B) Grumara

(C) Jim Corbett (D) All of these

13th Vice President of India, M Venkaiah

Naidu hails from-

O & 13 & STl TH. AhIT TG gl ¥ 3§ ?

(A) Andhra Pradesh (B) New Delhi

(C) Tamilnadu (D) Kerala

The term of the Lok Sabha

TAIeh WHT T ST eRTeT

(A) annot be extended under any circumstances/fgt it
uRfeafa & faeafa 7 & Tl 2

(B) can be extended by six month at a time/d8 Tsh IHIA
# 6 e & fou fawfia & g 7

(C) can be extended by one year at a time during the
proclamation of emergency/3AHIARIT Ealciceli:a
SN Th THI Teh 9 o foTq fereiid &1 Wehal Bl

(D) can be extended for two years at a time during the
proclamation of emergency/3TIGehIcT 1 EEUT &
SN Th T €1 9 % forg forafid € wehdl 2

The main objective of TRYSEM was

TRYSEM <hT TG 3G9 UT-
(A) to train urban youth for self employment/S&dt Jansii

%1 SR & I TarR L
(B) to train rural youth for self employment/JTHioT Famail
%1 TRISAR & fely IR T
(C) Both A and ‘B/A 3R B 1 SRtk & ¥ &g ek
(D) None of the above/3TF ¥ ¥ &I &l

30. India’s first world peace university has

31.

32.

33.

34.

come up in-

O ot UgeTT farga grifa favafaencra el @rer st ?
(A) Odisha (B) Madhya Pradesh
(C)Maharashtra (D) Punjab
The League of Nations was formed at the
end of
TS T o TS (T Fog ok 3 W e T o ?
(A) World War I (B) World War II

(C) Gulf War 1 (D) Gulf War II
Haemophilia is a genetic disorder which
lead to
EIHTRIeTaT Ueh STaTiyTeh fareh & <

(A) decrease in haemoglobin level

(B) rheumatic heart disease

(C) decrease in WBC

(D) non-clotting of blood

In the pressure cooker, cooking is faster
because the increase in vapour pressure
UIR FHehd W T Woal Yehdl & iR o167 & qama o
gfeg & T -

(A) increase the specific heat

(B) decreases the specific heat

(C) decreases the boiling point

(D) increases the boiling point
LiuXiaobo, the Nobel Peace Prize laureate
has passed away. He hailed from which
country ?

ot farametian, aer vTifa qeehR farstan a1 frem & e
¥ 1 9% T 291 & Framet & 2



35.

(A) Japan  (B) Taiwan(C) Thailand (D) China
Which of the following is a database
administrator's function?

et § I - 1 ST WIIEeR R e 82

(A) Database design

(B) Backing up the database

(C) Performance monitoring

(D) All of the above

36. Which one of the following statements

37.

38.

39.

40.

regarding Ashoka stone pillars is incorrect?
YN & W & Hedl ° Frafaiad § 9 SF-a1 wo=
AR ?

(A) These are highly polished

(B) These are monolithic

(C) The shaft of pillars is tapering in shape

(D) These are parts of architectural structures

When a barometer reading suddenly
recedes, it indicates that climate -

Ffe areeTamTd =T (S ) st G sremes asi |
T @1 <, o 39 Hena firerar & T diam:

(A) will be very warm

(B) will be extremely stormy

(C) will remain cold

(D) incessant rain for at least 48 hours

Which of the following is not a feature
borrowed from British Constitution.

farfesr dfaam & s ot fardroar =& oft 7 &2

(A) First Past the Post

(B) The idea of Residual Power

(C) The idea of the rule of law

(D) Institution of speaker and his role

The living content of cell is called
protoplasm. It is composed of-

(A) Cytoplasm only

(B) Cytoplasm and nucleoplasm

(C) Nucleoplasm only

(D) Cytoplasm, nucleoplasm and other organelles
What was the essence of the 24th
Amendment to the Constitution of India?
A o WITLTT 24 § HINGT T Gt A T AT?
(A) It reversed the Judgement of Golaknath

case and enabled Parliament to abridge

or take away any to the Fundamental

Rights under Article 368

T T AT % ool i Sere fean iR dae @i

G 7 SIS 368 H it g ff Hifern IR il

MY o o faw w&m s

It laid down the doctrine of the basic

structure of the Constitution

T SfaEE % g e o faa i e feam

It reversed the judgement of Kesavanand

Bharati case and dropped the

(B)

©

41.

42,

43.

44.

45.

46.

47.

doctrine of the basic structure of the
Constitution
IO FVEMS TRA A F HEA F I fo ek
dfaam & g @ fasia o ger fe
(D) It denied the parliament's power to
amend the Fundamental Rights
TH THS 1 Hiferh AR H w9 H i i it
wfekd UG i T |
Ticks and mites are actually
TS W ST 37X T § -
(A) Arachnids (B) Crustaceans
(C) Insects (D) Myriapods
Which one of the following forms the largest
share of deficit in Government of India
Budget?
RA GIhRR o a1e § e a1 707 | feraent wa &gt
fewr €2
(A) Primary deficit (B) Fiscal deficit
(C) Revenue deficit (D) Budgetary deficit
Which state government ? ‘““‘Apni Gaddi Apna
Rojgar’’ scheme has lanuched for jobless
youth in which state?
7T e STUAT ASHTR TISTAT SSHTR FATSHT o T
o =1 X gt i § ?
(A) Odisha (B) Punjab
(C) New Delhi (D) Tamilnadu
Baryllium Sulphate is less soluble in water
due to
gﬁaw TRE T UTHT W hT YI9TeT Teheh ShIXOT Blet
?
(A) High inflammable energy
(B) Low Energy of dissociation
(C) Low inflammable energy
(D) Ionic band
Aichi Targets are associated with which the
following?
aTg=ht wex Frefarfiaa § & frad deg 872
(A) Convention on Biological Diversity
(B) Washington Convention
(C) Ramsar Convention
(D) Bonn Convention
Which one of the following types of glass can
cut off ultraviolet rays ?
Fefafad g & wiel § § ®HE-91 Th WeEt
fertomt =1 faeeT oY Tehar 872
(A) Soda glass (B) Pyrex glass
(C) Jena glass (D) Crookes glass
Which of the following hormone is called
emergency hormone?

frefafer # @ fore ST T SMUTARTe BME el
ST 82

(A) Insulin (B) Adrenaline



48.

49.

(C) Oestrogen (D) Oxytocin
Which one of the following types of coal
contains a higher percentage of carbon than
the rest?
T o 9 fohT U o hiTrel B 31 hi eT-IT | Shial T ahl
wfereTer arferen grar 2
(A) Bituminous coal (B) Lignite
(C) Peat (D) Anthracite
A proclamation of emergency, under Article
352, on account of war or aggression
requires approval of the Parliament within

T IMEHAUT o HRUT 352 & 3Tl

JATUTTERTET Shi TTSTUTT o el T oAt STTHIGT ST § :

(B) two months
(D) six months

(A) one month
(C) four months

50. chronological order of the Afghan rulers to

the throne of Delhi ?

faoett =t T AT IMHehl o ITET ol

Frefafaa § 9 i - 97 @& S 82

(A) Sikandar Shah, lirahim Lodi, Bahlol Khan Lodi

(B) Sikandar Shah, Bahlol Khan Lodi, Ibrahim Lodhi

(C) Bahlol Khan Lodi, Sikandar Shah, Ibrahim Lodi

(D) Bahlol Khan Lodi, Lodin Ibrahim Lodi, Lodin
Sikandar Shah

Quantitative Aptitude

51.

The centroid of an equilateral triangle ABC is
G and AB = 10 cm. The length of AG (in cm) is :

T TAYS BT ABC &t &g G 2 307 AB = 10 Tt
&, a7 AG ht ware (At W) femast grft ?
73

1 10 10v3 3
2z b) 1= 2N N2
(@) 33 (b) NG () 3 (d) 3

Directions (52-55) : The following pie-chart shows the percentage
distribution of the expenditure incurred in publishing a book.
Read the piechart and answer the questions.

fEw (52-55) : fr=fcifan wE-w & ol qas &
TEEH § g @ &1 UyE (SR S9iEm TR R
wE-oE & LTI BT 3R gl BT 3K S

52.

53.

Various Expenditure (in percentage) incurred
in publishing a book
&k o YeRTeT | g fafae @=t (ufaea #)
ROYALTY COST PROMOTION COST
FieHTET T

Taedt @M

BINDING COST
foezadl @

TRANSPORTATION COST

PAPER COST :

EQUE BSILE

Royalty on the book is less than the printing
cost by :
e WX TTeet, TRUT 0T | fere=it oo € 2

(a) 20%  (b) 5% (©) 25% 1

d) 33=
()33

The central angle of the sector correspoinding
to the expenditure incurred on Royalty is :
el W U T ok ATEY HFeT T hst™ hiuT T
B ?
() 15 () 54

(b) 48 (d) 24°

54.

55.

57.

| 56.
|

If 5500 copies are published and the
transportation cost on them amount to Rs.
82500 then the selling price of the book so
that the publisher can earn profit of 25% is :
gfe 5500 WfadT YerTivTd st ST & 3R ST W ufiass
AT 82500 FUT AT &, A T&Aeh o1 Tkt Tearm &
BT SIITET Ao TehToTeh 25% hT ST HAT Teh 2

(a) Rs.191.50 (b) Rs. 187.50

(c) Rs. 180 (d) Rs. 175

If for a certain quantity of books, the publisher
has to pay Rs. 30600 as printing cost, then the
amount of royalty cost to be paid of these
books is :

T gETen! T HEAT o FoTg wehTeten sh YR 0T
% ®U H 30600 ®IT AT TSAT & A 3T
TEehl o [T Eee! TRT st feha=it VT T ST
AT BRI ?

(a) Rs. 21200 (b) Rs. 19450

(c) Rs. 22950 (d) Rs. 26150

A right triangle with sides 9 cm, 12 cm and 15
cm is rotated about the side of 9 cm to form a
cone. The volume of the cone so formed is :

9 |t 3T 15 G Tt YAl ATt AWRITT Byt
Jfg 9 T T o URA : THTAT AT & ATk Tk Ih a7
k| 39 UhTX S Yich ST AT feha=T 21T 2

(a) 327 n cm3 (b) 330~ em?®

(c) 334n cm? (d) 324n em?3

In triangle ABC, DE || BC where D is point on AB
and E is a point on AC. ED divides the area of
ABC into two equal parts. Then DB : AB is equal
to

T f19<t ABC # DE|| BC & 5@ D, ABW U faig &
3T E, AC W U f&g €1 DE, ABC & &IWet &l & HHIT
ol o faarfe et 8, A DB : AB foRgeh seR § ?
(@) v2:(V2+1) ) J2:(V2-1)

© (vV2-1):v2 @ (V2+1):42



58.

59.

60.

61.

62.

63.

64.

65.

66.

Volume of a right circular cylinder of height 21
cm and base radius 5 cm is :

21 9 = AR 5 [T ATUR AT e o v gheg
AT T AT Tehe T AT ?

(a) 1255 cm® (b) 1050cm >

(© 1175cm? (d) 1650cm3

The value of the expression sin21°+sin211°+

sin221°+sin231° +sin241° + sin245° + sin249°
+5in259°+sin269° + sin 2 79°+sin289° & WM
AT EATT?

(@ o0 (©5

If x(x+y+2)=20,y (x+y+3)=30, and
z(x+ ¥+ 2) =50, then the value of 2 (x+y+ 3)
is:

(a) 20 (b) — 10 (c) 15 (d) 18

AB is a diameter of a circle having centre at o.
0. PQ is a chord which does not intersect AB.
Join AP and BQ. If /BAP= /ABQ, then ABQP is

a:
% O T I HT ATH AB | PQ Sar & It AB &Y &t
et AP 3T BQ = faetu aifs ~BAP = ZABQ, @Y
ABQP &1 3

(a) Cyclic square (b) Cyclic trapezium

(c) Cyclic rhombus (d) Cyclic rectangle

Let AX | BC of an equilateral triangle ABC,
Then the sum of the perpendicular distances
of the sides of AABC from any point inside the
triangle is :

AT feRst TS 9T ABCH AX | BC 1 1331 o 3iex
farelt faig & A ABC @I q[aTTeit @t ervaTerah gial &t anT
T A

(a) BC Equal to (b) Ax Equal to

(¢) AX Less than (d) AX Greater than

The straight line y=3x must pass through the
point :

TR y = 3x i forw foig & ovav Tenait ?

(@ (0,0) (b) (0,1) (©@1,2) (2,0

If cos 68+ sinf =m and sec 6 + cosec 6 = n then
the value of n (m2 —1)is equal to :

(a) 2m (b) mn () 4mn (d) 2n

In A ABC, the internal bisectors of /B and £C

meet at point O. If /A =80°, then /BOC is
equal to :

AABC ¥, /B 3R /C & 3tiaie fguis fig o W™
firera 1 3fe £ A = 80°, Af £ BOC ferat 3797 AT gTT?

1 1
b) 5= d4a=
()52 ()42

(a) 100° (b) 120° (c) 130° (d) 140°
= 2 o
i Lmzsinz 30°+4 cot? 45°- sec? 60°,
1+tan230°
then the value of x is :
@= = ©1  @-=
4 5 2 V3

67.

68.

69.

70.

71.

72.

if cosA +sin A = /2 cosA then cos A - sin A is
equal to : (where 0° < A < 90°)

(a) v/2sinA (b) 2sin A
() 24/sinA (d) ¥2sinA

A and B have their monthly incomes inthe
ration 8 : % while their monthly expenditures
are in the ratio 5 : 3. If they have saved Rs.
12,000 and Rs. 10,000 monthly respectively,
then the difference in their monthly incomes
is

A 3{R B &I WIfeh 31191 8:5 & TTUTH W ¢ Wal{eh a1
TR =579 5 8 o U | ¥ Tl Sei AT 12,000
FUT 3{X 10,000 TUT =t Wk STeld i &, dF ST
Tk TEH § 3o feheT 2

(a) 52,000 (b) 42,000

(c) 44,000 (d) 46,000

A boy aged 12 years is left with Rs. 100,000
which is under a trust. The trustees invest the
money at 6% per annum and pay the minor
boy a sum of Rs. 2500, for his pocket money at
the end of each year. The expences of trust
come out to be Rs. 500 per annum. Fine the
amount that will be handed over to the minor
boy after he attains the age of 18 years.

12 95 & Uk &gk oh eTU =19 o 37efi 100,000 TIT
BIS ATA &1 =T TR T 6% Uil ol W FEaor s aa &
3T Tk gk Tl Wa Wel o ferw ufe o & ofq o
2500 ®UT Td | ~ATE T Wt 500 TU Ui a6 11T &)

ST TTSoh ahl 18 TH i 31T BN WX Femer=it 1T widt
SaEt?

(a) 52,000 (b) 42,000

(c) 44,000 (d) 46,000

ifa? + b%2¢c2 = 2(a + b+ ¢) - 3, then the value of a
+B+Cis:

(a) 2 (b) -1 (©1 (d) -2

A,B and C invested their capitals in a business
if the ratio of their periods of investments are
2 : 3 : 4 and the profit are in the ratio of4:9:
8 . fine the ratio in which the investments are
made by A, B and C.

A,B 3T C 3 Uk SR § AU Ysit &g | Ife Seht
e @t Sraft ot ST 2:3:4 & 3T IR AT H
STUTT 4:9:8 ¥ STTUTA Ad hifwrg 9 A,B AR C 7
frerer 3 e o ST § 2

(@) 2:3:2 b)3:2:2

()4:2:1 (d2:2:1

Four milkmen rented a pasture. A grazed 15
cows for 4 months. B grazed 123 cows for 2
months, C grazed 18 cows for 6 months, and D
grazed 16 cows for 5 months. If A's share of
rent is Rs 1020 what is C's share of rent ?

=R Tl 3 fRra W ues =g faam A 3 15 TE 4
wEH & fag, B 12 7 2 oA & faw, c 7 18 TR 6
TEH o fe iR DS 16 TR 5 WEA & faw orret afe



1

fortrar § A =7 fEET 1020 0 ) fomt@ § ¢ =1 e
fora g ?

(a) Rs. 1836 (b) Rs. 1360

(c) Rs. 816 (d) cannot be determined

A cistern has a leak which would empty in 8
hours. A tap is turned on which admits 6 litres
a minute into the cistern and it is now emptied
in 12 hours. the cistern can hold.

Teh Soht § DT § W1 8 TS | WIet ot Tehdl 81 9t St A
6 e Ut fie i gT @ &t &l T arel T WieH WX
et 12 T2 ¥ @rell g ATt §1 Eant it onfiar feaet & ?
(a) 6840 liters (b) 7860 liters

(c) 8640 liters (d) 6850 liters

Two guns are find from the same place at an
interval of 6 minutes. A person approaching
the place observes that 5 minutes 52 seconds
have elapsed between the hearing of the

73.

74.

sound of the two guns. If the velocity of the
sound is 330 m / sec, the man was
approaching that place at what speed in km /
h?

S AU W @ 6 e & aﬁ'uamm's‘aﬁﬁ%l
L) 39 T W UgTeRT uTar § fom g ag?
&~ o G o oo 5 fire 52 dehug s afg
&1 ST AT 330 /A E @, u@wﬁwwﬁaﬁ
=T fehaet feanelt / o2 oft ?

(@) 24km/h (b) 27 km / h

(¢) 30km/h (d)36km/h

The diagonals AC and Bd of a cyclic
quadrilaterla ABCE intersect each other at the
pomt P The, it is always true that

ABCD & fa@ui AC 9T BD T gX
ﬁﬁw—gpm A B, A T HeT | e ¢ foh—
(a) BRAB = CD.CP

(b) ABCP = DP
(c) APBP = CR CP (d) ARCD = AB.CP

75.

ENGLISH LANGUAGE

Direction: In the following question, out of the four alternatives,
select the alternative which is the best substitute of the phrase.

76. Courteousness and refinement of manner.
(a) plaudit (b) adulation
(c) urbanity (d) profanity
Direction: In the following question, out of the four alternatives,

select the alternative which best expresses the meaning of the
idiom/phrase.

77. Great minds think alike

(a) it is said when two people have the same opinion

(b) it is said when clever people think rationally

(c) since there is only one truth , the great
philosophers have reached on similar conclusions

(d) scientists and philosophers easily become friends

To have an axe to grind

(a) sharpening your skills in anticipation of future
challenges

(b) to have a private reason for doing something

(c) preparing for a fight

(d) getting ready for work or a new project

Select the synonym of digression

(a) meandering (b) candid

(c) categorical (d) unequivocal

Select the synonym of precedent

(a) contingent (b) criterion

(c) arbitrary (d) fortuitous

Select the antonym of to rake

(a) to harrow (b) to scatter

(¢) to scour (d) to enfilade

Select the antonym of to contend

(a) to comply (b) to oppugn

(c) to grapple (d) to vie

78.

79.

80.

81.

82.

83. Select the word with the correct spelling.
(a) deriesion (b) apalled

(¢) civilian (d) sacluded

Select the word with the correct spelling.
(a) alackrity (b) refileing

(c) bufoons (d) condense

84.

Direction: In the following question, a sentence has been given in
Active/Passive voice. Out of four alternatives suggested, select
the one, which best expresses the same sentence in
Passive/Active voice.

85. Jayesh has sent the email.
(a) The email has had been sent by Jayesh.
(b) The email has been sent by Jayesh.
(c) The email was sent by Jayesh.
(d) The email was send by Jayesh.

Direction: In the following question, a sentence has been given in
Direct/Indirect speech. Out of the four alternatives suggested,
select the one, which best express the same sentence in
Indirect/Direct speech.

86. Anil says, "I am glad to be here this morning"
(a) Anil says he is glad to be there that morning.
(b) Anil says that he is glad to be there that morning.
(c) Anil was saying that he was glad to be there this
morning.
(d) Anil says that he was glad to be here this morning.

Direction: In the following question, sentence given with blank is
to be filled in with an appropriate word. Select the correct
alternative out of the four and indicate it by selecting the
appropriate option.

87. Either you're a mind reader or it's a ___ that
you called me just as I was keying your phone
number.



(b) correlation
(d) happening

(a) coincidence
() union

Direction: Improve the bracketed part of the sentence.

88. When I (go) to Paris, I shall visit the Eiffel
Tower.
(a) shall go
(c) have to go

(b) will be going
(d) no improvement

Direction: In the following question, sentence given with blank is
to be filled in with an appropriate word. Select the correct
alternative out of the four and indicate it by selecting the
appropriate option.
89. Excusing yourself before standing to leave is
part of proper table .
(a) usage (b) etiquette
(c) dignity (d) habit

Direction: Improve the bracketed part of the sentence.

90. Please pass me that (scissors).
(a) scissor (b) pair of scissor
(c) pair of scissors (d) no improvement

Direction: Rearrange the parts of the sentence in correct order.

91. Do people take

P. rejection of every candidate?

Q. the trouble to go and
R. vote only to register their
(a) RQP (b) RPQ (c) PRQ (d) QRP

92. The reference

P. is simultaneously a matter

Q. to the size of a vulnerable community
R. oflegal as well as political and ethical perspective
(a) RPQ (b) QRP (0 QPR (d) PRQ

Direction: In the following question, out of the four alternatives,
select the alternative which is the best substitute of the phrase.

93. Involving immoral or dishonourable actions
and motives

(a) redoubt
(¢) immaculate

(b) scrupulous
(d) sordid

Direction (18-19): In the following question, some part of the
sentence may have errors. Find out which part of the sentence has
an error and select the appropriate option. If a sentence is free
from error, select 'No Error’.

94. To the whale, its(a)/tail is the sole(b)/mean of
propulsion.(c)/No error(d)

(@) A (b) B (©C (D

There was a fine line(a)/between being
frugal(b)/and being a miser.(c)/No error(d)

() A (b)B (©cC (D

Direction (21-25): In the following passage, some of the words

have been left out. Read the passage carefully and select the
correct answer for the given blank out of the four alternatives.

95.

Fraternity, then, was meant to complement civil rights,
___to destroy them. The _  framers did not use this
symbolic term for a court to come along 66 years __ , and
it for the purposes of subordinating individual rights to
some mythic notion of community harmony, entirely
submerging the individual __ the society.

96. _ to destroy them.

(a) neither (b) nor (c) no (d) not
97. The __ framers did not use this symbolic term

(a) Constitutions' (b) Constitution's

(c) Constitutions (d) Constitution
98. a court to come along 66 years

(a) late (b) lately (c) later  (d) latest
99. and __ it for the purposes of subordinating

individual rights

(a) appropriate

(c) appropriating

(b) appropriately
(d) appropriated

100. entirely submerging the individual ___ the
society.
(a) on (b) onto (c) upon (d) within



